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QUESTION 1

Refer to the exhibit. 
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A REST API returns this JSON output for a GET HTTP request, which has been assigned to a variable called
"vegetables". Using Python, which output is the result of this command? 

print(filter(lambda 1: 1[`type\\'] == `fruit\\', vegetables) [0][`items\\'][0] [`items\\'][0]) 

A. {`color\\': `green\\', `items\\': [`kiwi\\', `grape\\']} 

B. [`kiwi\\', `grape\\'] 

C. lettuce 

D. kiwi 

Correct Answer: D 

it is kiwi but that function is very syntactically wrong 

1) lambda functions can\\'t be called integers, so it should be something like "lambda : ["type\\'"] == ..." 

2) filter() returns an iterator and is not directly subscriptable, meaning that you need to actually iterate over it: 

for item in filter(lambda name: name["type"] == "fruit", data): 

print(item) 

this returns: {\\'type\\': \\'fruit\\', \\'items\\': [{\\'color\\': \\'green\\', \\'items\\': [\\'kiwi\\', \\'grape\\']}, {\\'color\\': \\'red\\',
\\'items\\': [\\'strawberry\\', \\'apple\\']}]} 

3) [0][\\'items\\'][0][\\'items\\'][0] is also syntactically incorrect since the outer-most object is a dictionary not a list,
however: 

for item in filter(lambda name: name["type"] == "fruit", data): 

print(item[\\'items\\'][0][\\'items\\'][0]) 

does actually return "kiwi" 

another quality question from cisco 

 

QUESTION 2

DRAG DROP

Drag and drop the code snippets from the bottom to the blanks in the code to complete the HTTP response. Not all
options are used.

Select and Place:
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Correct Answer:
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QUESTION 3

Which HTTP status Code means that the server cannot or will not process the request because of perceived client
error? 

A. 100 

B. 203 

C. 303 

D. 400 

Correct Answer: D 

 

QUESTION 4
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DRAG DROP

Drag and drop the requests from the left into the correct order on the right to create and check the path trace between
two devices using Cisco DNA center API.

Select and Place:

Correct Answer:

 

QUESTION 5

When a developer sends an HTTP request to an API, which two elements are expected in an HTTP response? (Choose
two.) 

A. headers 

B. GET request 

C. POST request 

D. scripts 

E. status code 

Correct Answer: AE 

https://developer.edgecast.com/cdn/api/Content/Introduction/Common_Request_and_Response_Elements.htm 
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